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Structure ATMega168 |[ATMega328 |ATmega1280
. . Flash (2k for
void setunt) o Toap() ARDUINO CHEAT SHEET V.02B T
Mostly taken from the extended reference: SRk 28 o
Control Structures http://arduino.cc/en/Reference/Extended \
if (x<5){ } else { } Gavin Smith — Robots and Dinosaurs, The Sydney Hackspace / Duemilanovel N
switch (myvan =il B
case 1. xter : 14 +6 anal
break; Constants ([ Qualifiers A External Interrupts . ) i of 10 (Na;o has 14+8) |54+ 16 analog
case 2: HIGH | LOW static // persists between calls attachInterrupt(interrupt, function, 0-RXT 1-7x1
break: INPUT | OUTPUT volatile // use RAM (nice for ISR) [LOW,CHANGE RISING,FALLING]) 0. R e g;g 12 - &g
default? true | false const // make read-only detachInterrupt(interrupt) Serial Pins __ [1-TX 15 - RX4 14 - TX4
) 143 // Decimal number L PROGMEM // use flash interrupts() 2-(Int 0) 2,3,21,20,19,18
e . Ext Interrupts |3 - (Int 1 IRQO- IRQ5
for (int i=0; i <= 255; i++){ } 0173 // Octal n?mber . a — ~ folnterruptQ EE— 5,6(-nTim)er 0 ( :
while (x<5){ } B11011111 //Binary (8-bits only) Digital I/O ( Libraries: 9.10 - Timer 1
do { } while (x<5); 0x7B // Hex number pinMode(pin, [INPUT,OUTPUT]) P Serial < PWM pins 301 jé;imerZ 2_31?33
continue; //Go to next in do/for/while loop 7U // Force unsigned fligitalWrite(pin,.Value) el:;;i.n ([300, 1200, 2400, 4800, 9600 11-MOSI 51-MOSI
return x; // Or ‘refurn;’ for voids. e o int digitalRead(pin) 14400, 19200, 28800, 38400, 57600, sl 5. 80K 2250k
goto // considered harmful :-) I5UL // Force long unsigned \ _ //Write High to inputs to use pull-up res > > > > > Analo 91 SDA 120 —DA
10.0 // Forces floating point 1152007) \ 126 Analog5 - SCK |21 - scL
\ 2.4e5//245,000 4 Analog I/O N end()

é Further Syntax h analogReference([ DEFAULT,INTERNA int available() (T ATting2313 ISP Header 6-pin )
// (single line comment) @ Data Types h LEXTERNALY]) int read() T = :;I:j: e
/* (multi'line comment) */ void int analogRead(pin) //Call twice if ﬂu'ShO ‘ (RXD)) pDOCJ2 19 [1PB7 (SCL) e o ene
#define DOZEN 12 //Not baker’s! boolean (0, 1, false, true) switching pins from high Z source. prfnt() PRUnSiers Ml et 1SP Header 10-pin

\_ #include <avr/pgmspace.h> char (e.g. ‘a’-128 to 127) | analogWrite(pin, value) / PWM \ prl.ntln() y el Y i most w[le7e @ vee

unsigned char (0 to 255) tritel) o ] e R e v

4 General Operators N byte (0 to 255) é Advanced 1/0 ) EEPROM (#include <EEPROM.h>) ot S e i) [ P
_ General Operators int  (-32,768 t0 32,767) tone(pin, freqhz) byte read(intAddr) e FIorCoe
= (assignment operator) ) unsigned int (0 to 65535) tone(pin, freqhz ,duration_ms) write(intAddr,myByte) g o oo
+ (addition) - (subtraction) word (0 to 65535) noTone(pin) — / . \ e Emdw: ;é:cf
* (multiplication) / (division) ) . . . Servo (#include <Servo.h>) grmeom g e Geocy i 2o,
N ong (-2,147,483,648 to shiftOut(dataPin, clockPin, ttach(pi in uS S s R et
% (modulo) attach(pin , [min_uS, max_uS])

2,147,483,647) [MSBFIRST,LSBFIRST], value) i ATmega48/88/168/328 Arduino
== (equal to) != (not equal to) unsigned long (0 to 4,294,967,295) unsigned long pulseln(pin, [HIGHLLOW]) erte(ar‘lgle) // 0-180 9 !
< (less than) > (greater than) A \_ ’ ’ writeMicroseconds(uS) //1000-2000, oo mod:  avfeon A
float (-3.4028235E+38 to RN poo med2 7R ane
<= (less than or equal to) 1500 is midpoint
3.4028235E+38) é Ti N\ 0102 ds 2sp AIN2
>= (greater than or equal to) double (currently same as float) e read() // 0-180 P s d b Ao
\_ &&(and) | (or) ! (not) izeof(mvin) // ytu 2 byt unsigned long millis() // 50 days overflow. attached() //Returns boolean veerds 22fiann
\ sizeof(myint) // returns 2 bytes unsigned long micros() // 70 min overflow \_ detach() 4 g mpa
delay(ms) B [ S From
Pointer Access AYa Strings ) 9 delayMicroseconds(us) 4 SoftwareSerial(RxPin, TxPin) N[ o poe thz wpwos oo pum Arduino.CC
& reference operator char SI[1 ;], /I #include<SoftwareSerial.h> piog dus 15h 00 3 (pum)
* dereference operator char S2[8]={'a',"",'d"ui' 0’0’} 4 Math ™ b}fgin(lo:llgs/l;ebeld) 1/</ u}_:; ltcc)l 9600 - Y
char S3[8]={a,r",d"u’i",n’,0',\0'}; min(x,y) max(x, y) abs(x) c ;'1r read() oc S.tl ata
Bitwise O ¢ ~N //Included \0 null termination constrain(x, minval, maxval ) \ print(myData) or println(myData) J —
1twise Uperators char S4[ ] = "arduino"; map(val, fromL, fromH, toL, toH) " " =
o o ; ) , , toL, . < <
fL (I(Dl?;t\ylse an()i) ‘(S,’;t“_“se ort)) char S5[8] = "arduino"; pow(base, exponent) sqrt(x) / Wl;le‘:;i(n#(l)n clude \/A/h_]rs"}: a)s/r/nlzgtre:zc \
itwise xor) ~ (bitwise no Mo it ;
har S6[15] = "ard R sin(rad cos(rad tan(rad . .
<< (bitshift left)y >> (bitshift right) \ohar S6[15] — "arduino \—nirad) (rad) (rad) begin(addr) // Join as slave @ addr
s - ~N e Random Numbers ™\ requestFrom(address, count) "
~N . Arrays ' randomSeed(seed) / Long or int beginTransmission(addr) // Step 1 22
Compound Operators int mylnts[6]; 1 d send(mybyte) /] Step 2 =
: int myPins[] = {2, 4, 8, 3, 6}; ong random(max) A 2
++ (increment)  -- (decrement) y >4, 0,3, 04, 1 d . send(char * mystring) c
_ » int mySensVals[6] = {2, 4, -8, 3, 2}; \|__long random(min, max) * : o
+= (compound addition) \_ y > 4578, 3, 253 send(byte * data, size) =
-= (compound subtraction) 4 Bits and Bytes ) endTransmission() // Step 3
*= (compound multiplication) 4 Conversion ) lowByte)  highByte() byte available() // Num of bytes .
. (C("mp"““d;LV.iSi‘.’“) N char() byte() bitRead(x.bitn) bitWrite(x.bitn.bit) byte receiv(‘;() /(/1 lfet)“m next byte 37
= (compound bitwise an int() word() bitSet(x,bitn)  bitClear(x,bitn) onReceive(handler . o )
P ’ > Pics from Fritzing.Org under C.C. |
\ |= (compound bitwise or) \ long() float() bit(bitn) //bitn: 0-LSB 7-MSB \ onRequest(handler) J \ ics from Fritzing.Org under icense J




